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Frehe 7

Serre rose

27x11= 160 x 2 = 21:3 = triple 70 =
40 + 1000 = moitié 900 = quart de 24 = 8 x =64
752 —100 = X6 = 48 350+ =1000 76-32 =
82x2= triple 40 = 80x2= 275+ =500
100 - 15 = 28+ =100 450 + 80 = 134-7=
5x4 = 73-9= moitié 76 = 8 x40 =
459 +  =1000 50x 6= 54-9= 9x11=
50:5= 8 m418u = tiers de 15 = moitié 36 =
6Xx6 = 400-30= 580 + 40 = 10000 + 17 =
43 -5= 8X9 = 16+ =50 quadruple 15 =
L :: ‘ 0
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De 0 a 9 points De1oaig De20a 29 De 30a 40
4™ place 3¢me place 2¢me place 1°"¢ place
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Fiehe 2

Serre rose

24x11= 350x2 = 18:3 = triple 120 =
60 + 1000 = moitié 300 = quart de 160 = 5x =45
842 - 100 = x7= 56 620+ =1000 94 -52 =
75x2 = triple 60 = 70x2 = 130+ =300
100 - 35 = 49+ =100 590 + 60 = 38+19=
8x5 = 92-9= moitié 92 = 5x 1000 =
670+ =1000 60 x5 = 32-19= 6x11=
42:7 = 7m75d = tiers de 27 = 5¢c 8m 24u =
9x3 = 600 — 50 = 120+90 = 1000 + 6 =
50-8= 7X9 = 28+ =40 quadruple 9 =
L :: ‘ 0
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De 0 a 9 points De1oaig De20a 29 De 30a 40
4™ place 3¢me place 2¢me place 1°"¢ place
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Fiche 3

Serre rose

35x11= 38x2= 20:5 = triple 35 =
52 +1000 = moitié 5000 = qguart de 280 = 4 x =36
725-100 = x4 =32 930+ =1000 67-34=
45x2 = triple 33 = 55x2 = 280+ =600
100 - 65 = 18+ =100 670 + 80 = 64+19 =
8x3 = 74-9= moitié 76 = 60 x 100 =
420+ =1000 80x5= 45-29 = 8x11=
64:8= 3m28u = tiers de 30 = 3c Im6u =
Tx12:= 800-30 = 35T 1000 +30 =
70—-6= 8X9 = 57+ =80 quadruple 2 =

L :: ‘ 0
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De 0 a 9 points De1oaig De20a 29 De 30a 40
4™ place 3¢me place 2¢me place 1°"¢ place
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Serre rose

16x11= 8x3= 1,5+3 = triple 42 =
8000:10= moitié 800 = quart de 160 = 8 x =48
11+21= X112 110 580+ =600 8:10=
56 x 100 = triple 70 = 63+ =10 902 + 100 =
18:3= 33+ =100 750 + 90 = 13+29 =
3% 215 51-19= moitié 74 = 50 x 100 =
457 +  =1000 74-28 = 83-19= 48 x 11 =
10:5= 8d.m 3c = tiers de 21 = 15d.m 8d =
Tx12:= 1000 - 30 = 35T 600 : 100 =
53-15= 6x =66 6+ =20 quadruple 20 =
{ 2 1%
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Fiehe 5

Serre rose

23 %:F1= 7x4= 2,6+0,3 = triple 150 =
700 :100 = moitié 302 = quartde 8 = 6 X =30
34 +21= x 10 = 1200 620+ =700 5:10=
68 x 1000 = triple 90 = 46+ =10 926 + 100 =
49:7= 91+ =100 950 + 90 = 43 +29 =
Ox 240 64-19 = moitié 56 = 14 x 100 =
651+ =1000 138 - 28 = 91-19= 67x11=
12:4 = 6d.m 15c = tiers de 66 = 1d.m 30d =
45107 2200 - 50 = Tiiey 840:10=
68 —29 = 4x =48 13+ =20 quadruple 60 =
L :: ‘ 0
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De 0 a 9 points De1oaig De20a 29 De 30a 40
4™ place 3¢me place 2¢me place 1°"¢ place
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Frehe 6

Serre rose

0,4 x =4 9x9= 35+24 = triple 60 =
6000 : 100 = moitié 508 = quartde 12 = 26 +14 +19 =
54 +31= x 10 = 7000 40+ =300 17:10=
8,9 x 100 = triple 300 = 82+ =10 9,26 x 100 =
56:8 = 94,5+ =100 970 + 80 = 37429 =
3% 2120 28-19 = moitié 72 = 72 x 100 =
547+ =1000 289 +11= 73-19 = 6x11=
8 =2 17m 1c4u = tiers de 99 = 245u 3m =
5x12:= 7100 - 40 = 8l: =9 75,5 :100 =
88—-39 = 2x =50 13+17+15= quadruple 90 =
L :: ‘ 0
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De 0 a 9 points De1oaig De20a 29 De 30a 40
4™ place 3¢me place 2¢me place 1°"¢ place




